

Similarity and dissimilarity relations in intuitionistic fuzzy matrices using implication operators

P. MURUGADAS , K. LALITHA

Received 7 April 2016; Revised 14 May 2016; Accepted 27 May 2016

ABSTRACT. In this paper, we study similarity and dissimilarity relations in Intuitionistic Fuzzy Matrix(IFM) using two implication operators and derive a method to get a max-min idempotent, min-max idempotent IFM from an IFM of order n .

2010 AMS Classification: 03E72, 15B15

Keywords: Intuitionistic Fuzzy Set, Fuzzy Matrix, Intuitionistic Fuzzy Matrices, Implication operator.

Corresponding Author: P. Murugadas (bodi_muruga@yahoo.com)

1. INTRODUCTION

An $m \times n$ matrix $A = (a_{ij})$ whose entries are in the unit interval $[0, 1]$ is called a Fuzzy Matrix (FM). After the introduction of fuzzy matrix (FM) theory using max-min algebra by Thomason [21], several authors [13, 16] have developed the fuzzy matrix theory and studied about convergence [5, 3], decomposition [6], reduction [7, 8] of a fuzzy matrix (FM). In all the above said study implication operator plays a vital role. Atanassov [1] developed the concept of Intuitionistic Fuzzy

Set (IFS) theory analogous to fuzzy set theory. In [2] Atanassov studied intuitionistic fuzzy index matrix on the basis of index matrix, and extended intuitionistic fuzzy index matrix (EIFIM). Im et al. [10], Jeong and Lee Hong [11], Khan S. K, Pal M and Amiya K. Shyamal [12], Meenakshi AR and Gandhimathi [15] and several others have studied Intuitionistic Fuzzy Matrices (IFM). IFM is very useful in the discussion of intuitionistic fuzzy relation. Pal and Mondal [17] studied the similarity relation, invertibility and eigenvalues of IFM.

Nora and Atanassov [19] used implication operators in IFSs and they have put forth more than hundred and fifty such implication operators and derived some axioms for those implication operators. Sriram and Murugadas [20] used $\leftarrow$ implication operator for IFM, studied the concept of g-inverse and semi-inverse of an IFM which was a generalization of FM studied by Hiroshi Hashimoto [9].

In fuzzy set theory, for any two fuzzy elements $x, y \in [0, 1]$, $x \leftarrow y \geq x$ for all x, y . However this is not true in the case of fuzzy matrices (FMs) A, B . That means $A \leftarrow B \not\geq A$ always in the case of implication defined in [9]. Also Hashimoto [4] used $\leftarrow$ implication operator to fuzzy sets as well as to FMs, in which case also $x \leftarrow y \leq x$ for all $x, y \in [0, 1]$, but it is not true that $A \leftarrow B \leq A$ for all fuzzy matrices (FMs) A, B . In this paper we extend the new implication operator $\leftarrow$ for IFM and discuss the relation with the existing implication operator. Many authors [7, 22, 14] have used $\leftarrow$ operator component wise in FM and in most of the cases the results are evident from fuzzy set theoretic point.

In this paper we try to overcome the above problem and we have shown the condition under which $A \leftarrow B \geq A$ and $A \leftarrow B \leq A$ are true using $A \leftarrow B, A \leftarrow B$ defined in [9] for FM, we extend this study to IFM and the relation between the above two implication operators. Also we obtain the unique maximum solution for the Intuitionistic Fuzzy inequality $A \times X \times B \leq C$ under max-min composition and unique minimum solution for $A \diamond X \diamond B \geq C$ under min-max composition. Further, we investigate the similarity relation for IFM using max-min operation and $\leftarrow$, dissimilarity relation for IFM using min-max operation and $\leftarrow$. Finally we structured a method to find max-min transitive IFM and min-max c-transitive IFM from any square IFM A .

2. PRELIMINARIES

Throughout this paper $\mathcal{F}_{mn}$ denotes IFMs of order $m \times n$, $\mathcal{F}_n$ denotes IFMs of order $n \times n$, and entries in IFMs are comparable.

Definition 2.1 ([1]). An Intuitionistic Fuzzy Set (IFS) A in E (universal set) is defined as an object of the following form $A = \{\langle x, \mu_A(x), \nu_A(x) \rangle \mid x \in E\}$, where $\mu_A(x) : E \rightarrow [0, 1]$ and $\nu_A(x) : E \rightarrow [0, 1]$ define the membership and non-membership of the element $x \in E$ respectively and for every $x \in E : 0 \leq \mu_A(x) + \nu_A(x) \leq 1$.

For simplicity we consider the pair $\langle x, x' \rangle$ as membership and non-membership function of an IFS with $x + x' \leq 1$.

Definition 2.2 ([1]). For $\langle x, x' \rangle, \langle y, y' \rangle \in IFS$, define

$$\begin{aligned}\langle x, x' \rangle \vee \langle y, y' \rangle &= \langle \max\{x, y\}, \min\{x', y'\} \rangle, \\ \langle x, x' \rangle \wedge \langle y, y' \rangle &= \langle \min\{x, y\}, \max\{x', y'\} \rangle, \\ \langle x, x' \rangle^c &= \langle x', x \rangle.\end{aligned}$$

Definition 2.3 ([1]). Let $X = \{x_1, x_2, \dots, x_m\}$ be a set of alternatives and $Y = \{y_1, y_2, \dots, y_n\}$ be the attribute set of each element of X . Then an intuitionistic fuzzy matrix (IFM) is defined by

$$A = (\langle (x_i, y_j), \mu_A(x_i, y_j), \nu_A(x_i, y_j) \rangle),$$

for $i = 1, 2, \dots, m$ and $j = 1, 2, \dots, n$, where $\mu_A : X \times Y \rightarrow [0, 1]$ and $\nu_A : X \times Y \rightarrow [0, 1]$ satisfy the condition $0 \leq \mu_A(x_i, y_j) + \nu_A(x_i, y_j) \leq 1$. For simplicity we denote an intuitionistic fuzzy matrix (IFM) as matrix of pairs $A = (\langle a_{ij}, a'_{ij} \rangle)$ of non negative real numbers satisfying $a_{ij} + a'_{ij} \leq 1$ for all i, j .

For any two elements $A = (\langle a_{ij}, a'_{ij} \rangle), B = (\langle b_{ij}, b'_{ij} \rangle) \in \mathcal{F}_{mn}$ and $C \in \mathcal{F}_{np}$, define : for all $1 \leq i \leq m$ and $1 \leq j \leq n$,

(i) (Component wise addition)

$$A \oplus B = (\langle \max\{a_{ij}, b_{ij}\}, \min\{a'_{ij}, b'_{ij}\} \rangle),$$

(ii) (Component wise multiplication)

$$A \odot B = (\langle \min\{a_{ij}, b_{ij}\}, \max\{a'_{ij}, b'_{ij}\} \rangle),$$

(iii) (The universal matrix)

$$J = (\langle 1, 0 \rangle) \text{ is the matrix in which all entries are } \langle 1, 0 \rangle,$$

(iv) (Identity matrix)

$$I = (\langle \delta_{ij}, \delta'_{ij} \rangle), \text{ where } \langle \delta_{ij}, \delta'_{ij} \rangle = \begin{cases} \langle 1, 0 \rangle & \text{if } i = j \\ \langle 0, 1 \rangle & \text{if } i \neq j \end{cases},$$

(v) (The zero matrix)

$$O \text{ is the matrix in which all the entries are } \langle 0, 1 \rangle,$$

- (vi) $A \geq B$, if $a_{ij} \geq b_{ij}$ and $a'_{ij} \leq b'_{ij}$, for all i, j ,
 $A > B$, if $a_{ij} > b_{ij}$ and $a'_{ij} < b'_{ij}$, for all i, j , in which case A and B are comparable.
- (vii) (Complement of A)
 $A^c = (\langle a'_{ij}, a_{ij} \rangle)$,
- (viii) (Transpose of A)
 $A^T = (\langle a_{ji}, a'_{ji} \rangle)$,
- (ix) $AC = (\langle \max_{k=1}^n \min\{a_{ik}, c_{kj}\}, \min_{k=1}^n \max\{a'_{ik}, c'_{kj}\} \rangle)$
 $= (\langle \sum_{k=1}^n a_{ik}c_{kj}, \prod_{k=1}^n (a'_{ik} + c'_{kj}) \rangle)$,
- (x) $A \leftarrow C = (\min_{k=1}^n (\langle a_{ik}, a'_{ik} \rangle \leftarrow \langle c_{kj}, c'_{kj} \rangle))$
 $= (\bigwedge_{k=1}^n (\langle a_{ik}, a'_{ik} \rangle \leftarrow \langle c_{kj}, c'_{kj} \rangle))$,
- (xi) For any two comparable elements $\langle x, x' \rangle, \langle y, y' \rangle \in IFS$, define

$$\langle x, x' \rangle \leftarrow \langle y, y' \rangle = \begin{cases} \langle 1, 0 \rangle & \text{if } \langle x, x' \rangle \geq \langle y, y' \rangle \\ \langle x, x' \rangle & \text{if } \langle x, x' \rangle < \langle y, y' \rangle \end{cases}.$$

Definition 2.4 ([1]). For $A = (\langle a_{ij}, a'_{ij} \rangle) \in \mathcal{F}_{mn}$ and $C = (\langle c_{ij}, c'_{ij} \rangle) \in \mathcal{F}_{np}$, define

$$A \diamond C = (\bigwedge_k (\langle a_{ik}, a'_{ik} \rangle \vee \langle c_{kj}, c'_{kj} \rangle)).$$

Definition 2.5 ([18]). Let $R \in \mathcal{F}_n$. Then

- (i) If $R \geq I_n$, then R is reflexive.
- (ii) If $R^2 \leq R$, then R is transitive.
- (iii) If $R \diamond R \geq R$ is c-transitive.
- (iv) If $R \diamond R \leq R$ is c-compact.
- (v) If $R^2 \geq R$, then R is compact.
- (vi) If R is reflexive and transitive, then R is idempotent.
- (vii) In R , if all the diagonal entries are $\langle 0, 1 \rangle$, then R is irreflexive.
- (viii) R is symmetric if and only if $\langle r_{ij}, r'_{ij} \rangle = \langle r_{ji}, r'_{ji} \rangle$, for all i, j .
- (ix) R is antisymmetric if and only if $R \odot R^T \leq I_n$,
 where I_n is the unit matrix with all entries in the main diagonal as $\langle 1, 0 \rangle$ and remaining entries with $\langle 0, 1 \rangle$, and $R \odot R^T \leq I_n$ means $\langle r_{ij}, r'_{ij} \rangle \langle r_{ji}, r'_{ji} \rangle = \langle 0, 1 \rangle$ for all $i \neq j$ and $\langle r_{ii}, r'_{ii} \rangle \leq \langle 1, 0 \rangle$ for all i .
 So if $\langle r_{ij}, r'_{ij} \rangle = \langle 1, 0 \rangle$, then $\langle r_{ji}, r'_{ji} \rangle = \langle 0, 1 \rangle$.
- (x) If R is irreflexive and transitive, then R is nilpotent.
- (xi) If $\langle r_{ii}, r'_{ii} \rangle \geq \langle r_{ij}, r'_{ij} \rangle$, for all i, j , then R is weakly reflexive.

Proposition 2.6 ([20]). For $A \in \mathcal{F}_{mn}$, $B \in \mathcal{F}_{mp}$, and $C \in \mathcal{F}_{qn}$, the following inequality hold:

$$(1) \quad B \times (B^T \rightarrow A \leftarrow C^T) \times C \leq A.$$

- (2) $B \times (B^T \rightarrow A) \leq A$.
- (3) $(A \leftarrow C^T) \times C \leq A$.

Lemma 2.7 ([20]). *For $A \in \mathcal{F}_{mn}$, $A \leftarrow A^T$ is reflexive and transitive.*

Proposition 2.8 ([20]). *For any $A \in \mathcal{F}_{mn}$, the following inequality hold:*

- (1) $A \rightarrow A^T \geq I_m$.
- (2) $A \leftarrow A^T \geq I_m$.
- (3) $(A \rightarrow A^T)A \geq A$.

3. MAXIMAL AND MINIMAL SOLUTION OF INTUITIONISTIC FUZZY INEQUALITIES

In this section we extend implication operator $\leftarrow$ used by Hashimoto [9] for fuzzy matrices to IFS and IFM and discuss the relation between $\leftarrow$ and $\leftarrow$.

Lemma 3.1. *For $A, B \in \mathcal{F}_n$, $A \leftarrow B \geq A$ if and only if A is weakly reflexive.*

Proof. Let $A = (\langle a_{ij}, a'_{ij} \rangle)$ and $B = (\langle b_{ij}, b'_{ij} \rangle)$. Then

$$\begin{aligned} (A \leftarrow B) \geq A &\Leftrightarrow \bigwedge_{k=1}^n (\langle a_{ik}, a'_{ik} \rangle \leftarrow \langle b_{kj}, b'_{kj} \rangle) \geq \langle a_{ij}, a'_{ij} \rangle \\ &\Leftrightarrow \langle a_{il}, a'_{il} \rangle \leftarrow \langle b_{lj}, b'_{lj} \rangle \geq \langle a_{ij}, a'_{ij} \rangle \text{ for some } l \\ &\Leftrightarrow \langle a_{il}, a'_{il} \rangle \geq \langle a_{ij}, a'_{ij} \rangle \\ &\Leftrightarrow \text{in particular, } \langle a_{il}, a'_{il} \rangle \geq \langle a_{lj}, a'_{lj} \rangle. \quad \square \end{aligned}$$

Lemma 3.2. *For $A, B \in \mathcal{F}_n$, $A \leftarrow B \leq A$ if and only if $\langle a_{ij}, a'_{ij} \rangle \geq \langle a_{ii}, a'_{ii} \rangle$.*

Proof. Let $A = (\langle a_{ij}, a'_{ij} \rangle)$ and $B = (\langle b_{ij}, b'_{ij} \rangle)$. Then

$$\begin{aligned} (A \leftarrow B) \leq A &\Leftrightarrow \bigvee_{k=1}^n (\langle a_{ik}, a'_{ik} \rangle \leftarrow \langle b_{kj}, b'_{kj} \rangle) \leq \langle a_{ij}, a'_{ij} \rangle \\ &\Leftrightarrow \langle a_{il}, a'_{il} \rangle \leftarrow \langle b_{lj}, b'_{lj} \rangle \leq \langle a_{ij}, a'_{ij} \rangle \text{ for some } l \\ &\Leftrightarrow \langle a_{il}, a'_{il} \rangle \leq \langle a_{ij}, a'_{ij} \rangle \\ &\Leftrightarrow \text{in particular, } \langle a_{il}, a'_{il} \rangle \leq \langle a_{lj}, a'_{lj} \rangle. \quad \square \end{aligned}$$

Definition 3.3. For any two comparable elements $\langle x, x' \rangle, \langle y, y' \rangle \in IFS$, define

$$\langle x, x' \rangle \leftarrow \langle y, y' \rangle = \begin{cases} \langle 0, 1 \rangle & \text{if } \langle x, x' \rangle \leq \langle y, y' \rangle \\ \langle x, x' \rangle & \text{if } \langle x, x' \rangle > \langle y, y' \rangle \end{cases}$$

and for $A \in \mathcal{F}_{mn}$ and $C \in \mathcal{F}_{np}$, define

$$A \leftarrow C = \bigvee_k (\langle a_{ik}, a'_{ik} \rangle \leftarrow \langle c_{kj}, c'_{kj} \rangle)$$

and

$$A \rightarrow C = \bigvee_k (\langle a_{ik}, a'_{ik} \rangle \rightarrow \langle c_{kj}, c'_{kj} \rangle).$$

Lemma 3.4. For $\langle a, a' \rangle, \langle b, b' \rangle \in IFS$,

$$(3.1) \quad (\langle a, a' \rangle \leftarrow \langle b, b' \rangle)^c = (\langle a, a' \rangle^c \leftarrow \langle b, b' \rangle^c).$$

Proof. Case (i): If $\langle a, a' \rangle \geq \langle b, b' \rangle$, then $\langle a, a' \rangle \leftarrow \langle b, b' \rangle = \langle 1, 0 \rangle$. By assumption, $(\langle a, a' \rangle)^c \leq (\langle b, b' \rangle)^c$. Thus

$$(3.2) \quad (\langle a, a' \rangle \leftarrow \langle b, b' \rangle)^c = \langle 0, 1 \rangle.$$

So, by Definition 3.3,

$$(3.3) \quad (\langle a, a' \rangle)^c \leftarrow (\langle b, b' \rangle)^c = \langle 0, 1 \rangle.$$

Hence, by (3.2) and (3.3), (3.1) holds.

Case (ii): If $\langle a, a' \rangle < \langle b, b' \rangle$, then $\langle a, a' \rangle \leftarrow \langle b, b' \rangle = \langle a, a' \rangle$. Thus

$$(3.4) \quad (\langle a, a' \rangle \leftarrow \langle b, b' \rangle)^c = \langle a, a' \rangle^c = \langle a', a \rangle.$$

By assumption, $\langle a, a' \rangle^c > \langle b, b' \rangle^c$. So, by Definition 3.3,

$$(3.5) \quad \langle a, a' \rangle^c \leftarrow \langle b, b' \rangle^c = \langle a', a \rangle.$$

Hence, by (3.4) and (3.5), (3.1) holds. □

Lemma 3.5. For $\langle a, a' \rangle, \langle b, b' \rangle \in IFS$,

$$(3.6) \quad (\langle a, a' \rangle \leftarrow \langle b, b' \rangle)^c = (\langle a, a' \rangle^c \leftarrow \langle b, b' \rangle^c).$$

Proof. Case (i): If $\langle a, a' \rangle \leq \langle b, b' \rangle$, then

$$(3.7) \quad (\langle a, a' \rangle \leftarrow \langle b, b' \rangle)^c = \langle 1, 0 \rangle.$$

By assumption, $(\langle a, a' \rangle)^c \geq (\langle b, b' \rangle)^c$. Thus

$$(3.8) \quad (\langle a, a' \rangle^c \leftarrow \langle b, b' \rangle^c) = \langle 1, 0 \rangle.$$

So, from (3.7) and (3.8), (3.6) holds.

Case (ii): If $\langle a, a' \rangle > \langle b, b' \rangle$, then $\langle a, a' \rangle^c < \langle b, b' \rangle^c$. Thus

$$(3.9) \quad (\langle a, a' \rangle \leftarrow \langle b, b' \rangle)^c = \langle a, a' \rangle^c$$

and

$$(3.10) \quad \langle a, a' \rangle^c \leftarrow \langle b, b' \rangle^c = \langle a, a' \rangle^c.$$

So, by (3.9) and (3.10), (3.6) holds. □

Lemma 3.6. For $\langle a, a' \rangle, \langle b, b' \rangle \in IFS$,

$$(3.11) \quad (\langle b, b' \rangle \rightarrow \langle a, a' \rangle)^c = (\langle b, b' \rangle^c \rightarrow \langle a, a' \rangle^c).$$

Proof. Case (i): If $\langle a, a' \rangle \geq \langle b, b' \rangle$, then

$$(3.12) \quad (\langle b, b' \rangle \rightarrow \langle a, a' \rangle)^c = (\langle 1, 0 \rangle)^c.$$

By assumption, $(\langle a, a' \rangle)^c \leq (\langle b, b' \rangle)^c$. Thus

$$(3.13) \quad (\langle b, b' \rangle^c \rightarrow \langle a, a' \rangle^c) = \langle 0, 1 \rangle = \langle 1, 0 \rangle^c.$$

So, by (3.12) and (3.13), (3.11) holds.

Case (ii): If $\langle a, a' \rangle < \langle b, b' \rangle$, then

$$(3.14) \quad (\langle b, b' \rangle \rightarrow \langle a, a' \rangle)^c = \langle a, a' \rangle^c$$

and

$$(3.15) \quad \langle b, b' \rangle^c \rightarrow \langle a, a' \rangle^c = \langle a, a' \rangle^c.$$

Thus, by (3.14) and (3.15), (3.11) holds. $\square$

In the same manner, we prove the following Lemma.

Lemma 3.7. For $\langle a, a' \rangle, \langle b, b' \rangle \in IFS$,

$$(\langle b, b' \rangle \rightarrow \langle a, a' \rangle)^c = \langle b, b' \rangle^c \rightarrow \langle a, a' \rangle^c.$$

Lemma 3.8. For $\langle a, a' \rangle, \langle b, b' \rangle, \langle c, c' \rangle \in IFS$,

$$\langle a, a' \rangle \wedge \langle b, b' \rangle \leq \langle c, c' \rangle \Leftrightarrow \langle a, a' \rangle \leq \langle c, c' \rangle \leftarrow \langle b, b' \rangle.$$

Proof. Case(i): If $\langle a, a' \rangle \leq \langle b, b' \rangle$, then

$$\begin{aligned} \langle a, a' \rangle \wedge \langle b, b' \rangle &= \langle a, a' \rangle \leq \langle c, c' \rangle \\ \Leftrightarrow \langle a, a' \rangle &\leq \langle c, c' \rangle \leftarrow \langle b, b' \rangle. \end{aligned}$$

Case (ii): If $\langle a, a' \rangle > \langle b, b' \rangle$, then

$$\begin{aligned} \langle a, a' \rangle \wedge \langle b, b' \rangle &= \langle b, b' \rangle \leq \langle c, c' \rangle \\ \Leftrightarrow \langle c, c' \rangle &\leftarrow \langle b, b' \rangle = \langle 1, 0 \rangle \\ \Leftrightarrow \langle a, a' \rangle &\leq \langle c, c' \rangle \leftarrow \langle b, b' \rangle. \end{aligned}$$

$\square$

Lemma 3.9. For $\langle a, a' \rangle, \langle b, b' \rangle, \langle c, c' \rangle \in IFS$,

$$\langle a, a' \rangle \vee \langle b, b' \rangle \geq \langle c, c' \rangle \Leftrightarrow \langle a, a' \rangle \geq \langle c, c' \rangle \leftarrow \langle b, b' \rangle.$$

Proof. Case (i): If $\langle a, a' \rangle \geq \langle b, b' \rangle$, then

$$\langle a, a' \rangle \vee \langle b, b' \rangle = \langle a, a' \rangle \geq \langle c, c' \rangle \Leftrightarrow \langle a, a' \rangle \geq \langle c, c' \rangle \leftarrow \langle b, b' \rangle.$$

Case (ii): If $\langle a, a' \rangle < \langle b, b' \rangle$, then

$$\begin{aligned}\langle a, a' \rangle \vee \langle b, b' \rangle &= \langle b, b' \rangle \\ \Leftrightarrow \langle c, c' \rangle \leftarrow \langle b, b' \rangle &= \langle 0, 1 \rangle \\ \Leftrightarrow \langle a, a' \rangle \geq \langle c, c' \rangle \leftarrow \langle b, b' \rangle.\end{aligned}$$

□

Now we extend this result to *IFMs*.

Proposition 3.10. *For $A \in \mathcal{F}_{mn}, B \in \mathcal{F}_{nm}$, the following results hold:*

- (1) $(A \leftarrow B)^c = A^c \leftarrow B^c$.
- (2) $(A \leftarrow B)^c = A^c \leftarrow B^c$.
- (3) $(A \rightarrow B)^c = A^c \rightarrow B^c$.
- (4) $(A \rightarrow B)^c = A^c \rightarrow B^c$.

Proof. The proof is evident from Lemma 3.4, Lemma 3.5, Lemma 3.6 and Lemma 3.7 □

Lemma 3.11. *For $A \in \mathcal{F}_{mn}, B \in \mathcal{F}_{nm}$,*

- (1) $(A \leftarrow B)^T = B^T \rightarrow A^T$.
- (2) $(A \leftarrow B)^T = B^T \rightarrow A^T$.

Proof. (1) Let $A = (\langle a_{ij}, a'_{ij} \rangle)$, $B = (\langle b_{ij}, b'_{ij} \rangle)$. Then

$$\langle a_{ik}, a'_{ik} \rangle \leftarrow \langle b_{kj}, b'_{kj} \rangle = \begin{cases} \langle 1, 0 \rangle & \text{if } \langle a_{ik}, a'_{ik} \rangle \geq \langle b_{kj}, b'_{kj} \rangle, \\ \langle a_{ik}, a'_{ik} \rangle & \text{if } \langle a_{ik}, a'_{ik} \rangle < \langle b_{kj}, b'_{kj} \rangle. \end{cases}$$

Thus,

$$(3.16) \quad (\langle a_{ik}, a'_{ik} \rangle \leftarrow \langle b_{kj}, b'_{kj} \rangle)^T = \begin{cases} \langle 1, 0 \rangle & \text{if } \langle a_{ki}, a'_{ki} \rangle \geq \langle b_{jk}, b'_{jk} \rangle, \\ \langle a_{ki}, a'_{ki} \rangle & \text{if } \langle a_{ki}, a'_{ki} \rangle < \langle b_{jk}, b'_{jk} \rangle. \end{cases}$$

Now,

$$(3.17) \quad \langle b_{jk}, b'_{jk} \rangle \rightarrow \langle a_{ki}, a'_{ki} \rangle = \begin{cases} \langle 1, 0 \rangle & \text{if } \langle a_{ki}, a'_{ki} \rangle \geq \langle b_{jk}, b'_{jk} \rangle, \\ \langle a_{ki}, a'_{ki} \rangle & \text{if } \langle a_{ki}, a'_{ki} \rangle < \langle b_{jk}, b'_{jk} \rangle. \end{cases}$$

So, by (3.16) and (3.17), (1) holds.

(2) Clearly,

$$\langle a_{ik}, a'_{ik} \rangle \leftarrow \langle b_{kj}, b'_{kj} \rangle = \begin{cases} \langle 0, 1 \rangle & \text{if } \langle a_{ik}, a'_{ik} \rangle \leq \langle b_{kj}, b'_{kj} \rangle, \\ \langle a_{ik}, a'_{ik} \rangle & \text{if } \langle a_{ik}, a'_{ik} \rangle > \langle b_{kj}, b'_{kj} \rangle. \end{cases}$$

Then

$$(3.18) \quad (\langle a_{ik}, a'_{ik} \rangle \leftarrow \langle b_{kj}, b'_{kj} \rangle)^T = \begin{cases} \langle 0, 1 \rangle & \text{if } \langle a_{ki}, a'_{ki} \rangle \leq \langle b_{jk}, b'_{jk} \rangle, \\ \langle a_{ki}, a'_{ki} \rangle & \text{if } \langle a_{ki}, a'_{ki} \rangle > \langle b_{jk}, b'_{jk} \rangle. \end{cases}$$

and

$$(3.19) \quad \langle b_{jk}, b'_{jk} \rangle \rightarrow \langle a_{ki}, a'_{ki} \rangle = \begin{cases} \langle 0, 1 \rangle & \text{if } \langle a_{ki}, a'_{ki} \rangle \leq \langle b_{jk}, b'_{jk} \rangle, \\ \langle a_{ki}, a'_{ki} \rangle & \text{if } \langle a_{ki}, a'_{ki} \rangle > \langle b_{jk}, b'_{jk} \rangle. \end{cases}$$

Thus, by (3.18) and (3.19), (2) holds. $\square$

Lemma 3.12. For $A \in \mathcal{F}_{mn}$, $B \in \mathcal{F}_{np}$ and $C \in \mathcal{F}_{mp}$,

- (1) $A \times B \leq C \Leftrightarrow A \leq C \leftarrow B^T \Leftrightarrow B \leq A^T \rightarrow C$.
- (2) $A \diamond B \geq C \Leftrightarrow A \geq C \leftarrow B^T \Leftrightarrow B \geq A^T \rightarrow C$.

Proof. (1) $A \times B \leq C$

$$\begin{aligned} &\Leftrightarrow (\bigvee_k (\langle a_{ik}, a'_{ik} \rangle) \wedge \langle b_{kj}, b'_{kj} \rangle) \leq \langle c_{ij}, c'_{ij} \rangle \text{ for all } i, j \\ &\Leftrightarrow \langle a_{ik}, a'_{ik} \rangle \leq \langle c_{ij}, c'_{ij} \rangle \leftarrow \langle b_{kj}, b'_{kj} \rangle \text{ for all } i, j, k, \text{ by Lemma 3.8} \\ &\Leftrightarrow \langle a_{ik}, a'_{ik} \rangle \leq \bigwedge_j (\langle c_{ij}, c'_{ij} \rangle \leftarrow \langle b_{kj}, b'_{kj} \rangle) \text{ for all } i, k \\ &\Leftrightarrow (\langle a_{ij}, a'_{ij} \rangle) \leq \bigwedge_k (\langle c_{ik}, c'_{ik} \rangle \leftarrow \langle b_{jk}, b'_{jk} \rangle) \text{ for all } i, j, k \\ &\Leftrightarrow A \leq C \leftarrow B^T. \end{aligned}$$

On one hand,

$$A \times B \leq C \Leftrightarrow B^T \times A^T \leq C^T \Leftrightarrow B^T \leq C^T \leftarrow A \Leftrightarrow B \leq (C^T \leftarrow A)^T.$$

By Lemma 3.11 (1), $(C^T \leftarrow A)^T = A^T \rightarrow C$. Then

$$A \times B \leq C \Leftrightarrow B \leq A^T \rightarrow C.$$

(2) $A \diamond B \geq C$

$$\begin{aligned} &\Leftrightarrow (\bigwedge_k (\langle a_{ik}, a'_{ik} \rangle) \vee \langle b_{kj}, b'_{kj} \rangle) \geq \langle c_{ij}, c'_{ij} \rangle \text{ for all } i, j \\ &\Leftrightarrow \langle a_{ik}, a'_{ik} \rangle \vee \langle b_{kj}, b'_{kj} \rangle \geq \langle c_{ij}, c'_{ij} \rangle \text{ for all } i, j, k. \\ &\Leftrightarrow \langle a_{ik}, a'_{ik} \rangle \geq \langle c_{ij}, c'_{ij} \rangle \leftarrow \langle b_{kj}, b'_{kj} \rangle \text{ for all } i, j, k \\ &\Leftrightarrow \langle a_{ik}, a'_{ik} \rangle \geq \bigvee_j (\langle c_{ij}, c'_{ij} \rangle \leftarrow \langle b_{kj}, b'_{kj} \rangle) \text{ for all } i, k \\ &\Leftrightarrow \langle a_{ij}, a'_{ij} \rangle \geq \bigvee_k (\langle c_{ik}, c'_{ik} \rangle \leftarrow \langle b_{jk}, b'_{jk} \rangle) \text{ for all } i, j. \end{aligned}$$

Then $A \diamond B \geq C \Leftrightarrow A \geq C \leftarrow B^T \Leftrightarrow B \geq A^T \rightarrow C$ is obvious. $\square$

Proposition 3.13. For $A \in \mathcal{F}_{mn}$, $B \in \mathcal{F}_{pn}$,

- (1) $(A \leftarrow B^T) \diamond B \geq A$.
- (2) $B \diamond (B^T \rightarrow A) \geq A$, for $B \in \mathcal{F}_{mp}$.

Proof. (1) Since $A \leftarrow B^T \geq A \leftarrow B^T$, by Lemma 3.12(2), (1) holds.

(2) Put $D = B^T \rightarrow A$. Then, by Lemma 3.12(2),

$$B \diamond D \geq A \Leftrightarrow D \geq B^T \rightarrow A \Leftrightarrow B^T \rightarrow A \geq B^T \rightarrow A.$$

Thus $B \diamond (B^T \rightarrow A) \geq A$. $\square$

Remark 3.14. Consider the inequality $A \times X \times B \leq C$ where $A \in \mathcal{F}_{mn}$, $B \in \mathcal{F}_{pq}$ and $C \in \mathcal{F}_{mq}$ with unknown $X \in \mathcal{F}_{np}$.

By Lemma 3.12(1),

$$(3.20) \quad X \leq (A^T \rightarrow C) \leftarrow B^T.$$

By Proposition 2.6,

$$(3.21) \quad A \times (A^T \rightarrow C \leftarrow B^T) \times B \leq C.$$

From (3.20) and (3.21), $(A^T \rightarrow C \leftarrow B^T)$ is the maximum solution of $A \times X \times B \leq C$.

Remark 3.15. Consider the inequality $A \diamond X \diamond B \geq C$ with suitable size and unknown X . Then, by Lemma 3.12(2),

$$(3.22) \quad X \geq A^T \rightarrow C \leftarrow B^T.$$

By Proposition 3.13,

$$(3.23) \quad A \diamond (A^T \rightarrow C \leftarrow B^T) \diamond B \geq A \diamond (A^T \rightarrow C) \geq C.$$

From (3.22) and (3.23), $A^T \rightarrow C \leftarrow B^T$ is the minimum solution of $A \diamond X \diamond B \geq C$.

4. INTUITIONISTIC FUZZY SIMILARITY RELATION (IFSR) AND INTUITIONISTIC FUZZY DISSIMILARITY RELATION (IFDR) USING $\leftarrow$ AND $\leftarrow$.

This section provides a method to obtain IFSR and IFDR from any IFM. Using this IFSR and IFDR we shall obtain max-min idempotent ($R \times R = R$) and min-max idempotent ($R \diamond R = R$) for any IFM.

Proposition 4.1. For $A \in \mathcal{F}_{mn}$, $B \in \mathcal{F}_{np}$,

- (1) $A \leftarrow (A^T \leftarrow B) \geq B$.
- (2) $A \leftarrow (A^T \leftarrow B) \leq B$.
- (3) $(B \rightarrow A^T) \rightarrow A \geq B$, for $B \in \mathcal{F}_{pn}$.
- (4) $(B \rightarrow A^T) \rightarrow A \leq B$, for $B \in \mathcal{F}_{pn}$.

Proof. (1) Since $(B^T \rightarrow A) \leq (B^T \rightarrow A)$,

$$(A^T \leftarrow B)^T = B^T \rightarrow (A^T)^T = B^T \rightarrow A \leq B^T \rightarrow A.$$

Since $AB \leq C \Leftrightarrow A \leq C \leftarrow B^T \Leftrightarrow B \leq A^T \rightarrow C$, using Lemma 3.12(1),

$$B(A^T \leftarrow B)^T \leq A$$

and

$$B \leq A \leftarrow ((A^T \leftarrow B)^T)^T = A \leftarrow (A^T \leftarrow B).$$

- (2) Since $B^T \rightarrow A \geq B^T \rightarrow A$ or $(A^T \leftarrow B)^T \geq B^T \rightarrow A$, using Lemma 3.12(2), $B \diamond (A^T \leftarrow B)^T \geq A$ and $B \geq A \leftarrow (A^T \leftarrow B)$.
- (3) Since $A \leftarrow B^T \leq A \leftarrow B^T$ or $(B \rightarrow A^T)^T \leq A \leftarrow B^T$,
 $(B \rightarrow A^T)^T B \leq A$ and $B \leq (B \rightarrow A^T) \rightarrow A$.
- (4) Since $A \leftarrow B^T \geq A \leftarrow B^T$ or $(B \rightarrow A^T)^T \geq A \leftarrow B^T$, by Lemma 3.12,
 $(B \rightarrow A^T)^T \diamond B \geq A$ and $B \geq (B \rightarrow A^T) \rightarrow A$. $\square$

Proposition 4.2. For $A \in \mathcal{F}_{mn}$, $B \in \mathcal{F}_{pn}$,

- (1) $((A \leftarrow B^T)B) \leftarrow B^T = A \leftarrow B^T$.
- (2) $((A \leftarrow B^T) \diamond B) \leftarrow B^T = A \leftarrow B^T$.
- (3) $B^T \rightarrow (B(B^T \rightarrow A)) = B^T \rightarrow A$, for $B \in \mathcal{F}_{mp}$.
- (4) $B^T \rightarrow (B \diamond (B^T \rightarrow A)) = B^T \rightarrow A$, for $B \in \mathcal{F}_{mp}$.

Proof. (1) Clearly, $(A \leftarrow B^T)B \leq (A \leftarrow B^T)B$. Then, by Lemma 3.12(1), $(A \leftarrow B^T) \leq ((A \leftarrow B^T)B) \leftarrow B^T$. Thus, by Proposition 2.6,

$$(A \leftarrow B^T) \leq ((A \leftarrow B^T)B) \leftarrow B^T \leq A \leftarrow B^T.$$

So $((A \leftarrow B^T)B) \leftarrow B^T = A \leftarrow B^T$.

- (2) Clearly, $((A \leftarrow B^T) \diamond B) \geq (A \leftarrow B^T) \diamond B$. Then

$$(A \leftarrow B^T) \geq ((A \leftarrow B^T) \diamond B) \leftarrow B^T \geq A \leftarrow B^T.$$

Then, by Lemma 3.12(i), and Proposition 3.13(1),

$$((A \leftarrow B) \diamond B) \leftarrow B^T = A \leftarrow B^T.$$

- (3) Clearly, $B(B^T \rightarrow A) \leq B(B^T \rightarrow A)$. Then

$$(B^T \rightarrow A) \leq B^T \rightarrow B(B^T \rightarrow A) \leq B^T \rightarrow A.$$

By Proposition 2.6, $(B(B^T \rightarrow A)) \leq A$. Thus

$$B^T \rightarrow (B(B^T \rightarrow A)) = B^T \rightarrow A.$$

- (4) Clearly, $B \diamond (B^T \rightarrow A) \geq B \diamond (B^T \rightarrow A)$. Then, by Proposition 3.13, $B^T \rightarrow A \geq B^T \rightarrow (B \diamond (B^T \rightarrow A)) \geq B^T \rightarrow A$. Thus

$$B^T \rightarrow (B \diamond (B^T \rightarrow A)) = B^T \rightarrow A.$$

$\square$

Proposition 4.3. (1) For $A \in \mathcal{F}_{mn}$, $B \in \mathcal{F}_{pn}$ and $C \in \mathcal{F}_{qn}$,

- (a) $(A \leftarrow B^T) \times (B \leftarrow C^T) \times C \leq A$.
 - (b) $(A \leftarrow B^T) \diamond (B \leftarrow C^T) \diamond C \geq A$.
- (2) For $A \in \mathcal{F}_{mn}$, $B \in \mathcal{F}_{mp}$ and $C \in \mathcal{F}_{mq}$,
- (a) $C \times (C^T \rightarrow B) \times (B^T \rightarrow A) \leq A$.
 - (b) $C \diamond (C^T \rightarrow B) \diamond (B^T \rightarrow A) \geq A$.

Proof. (1) (a) By proposition 2.6, $(A \leftarrow B^T)B \leq A$, $(B \leftarrow C^T)C \leq B$. Then $(A \leftarrow B^T)(B \leftarrow C^T)C \leq (A \leftarrow B^T)B \leq A$. Thus (a) holds.

(b) By Proposition 2.6, $(A \leftarrow B^T) \diamond B \geq A \Rightarrow (B \leftarrow C^T) \diamond C \geq B$. Then $(A \leftarrow B^T) \diamond (B \leftarrow C^T) \diamond C \geq (A \leftarrow B^T)B \geq A$. Thus (b) holds.

(2) (a) By proposition 2.6, $B \times (B^T \rightarrow A) \leq A$, $C \times (C^T \rightarrow B) \leq B$. Then $C \times (C^T \rightarrow B) \times (B^T \rightarrow A) \leq B(B^T \rightarrow A) \leq A$. Thus (a) holds.

(b) By proposition 3.13, $B \diamond (B^T \rightarrow A) \geq A$, $C \diamond (C^T \rightarrow B) \geq B$. Then $C \diamond (C^T \rightarrow B) \diamond (B^T \rightarrow A) \geq B \diamond (B^T \rightarrow A) \geq A$. Thus (b) holds. $\square$

Proposition 4.4. (1) For $A \in \mathcal{F}_{mn}$, $B \in \mathcal{F}_{pn}$ and $F \in \mathcal{F}_{nq}$,

(a) $(A \leftarrow B^T)(B \leftarrow F) \leq A \leftarrow F$.

(b) $(A \leftarrow B^T) \diamond (B \leftarrow F) \geq A \leftarrow F$.

(2) For $A \in \mathcal{F}_{mn}$, $B \in \mathcal{F}_{mp}$ and $F \in \mathcal{F}_{qm}$,

(a) $(F \rightarrow B)(B^T \rightarrow A) \leq F \rightarrow A$.

(b) $(F \rightarrow B) \diamond (B^T \rightarrow A) \geq F \rightarrow A$.

Proof. (1) (a) By Proposition 4.3, $(A \leftarrow B^T)(B \leftarrow F^T)F \leq A$. Then, by Lemma 3.12, $(A \leftarrow B^T)(B \leftarrow F^T) \leq A \leftarrow F^T$.

(b) Clearly, $(A \leftarrow B^T) \diamond (B \leftarrow F^T) \diamond F \geq A$. Then (b) holds.

(2) (a) By Proposition 4.3, $F(F^T \rightarrow B)(B^T \rightarrow A) \leq A$. Then (a) holds.

(b) Clearly, $F \diamond (F^T \rightarrow B) \diamond (B^T \rightarrow A) \geq A$. Then (b) holds. $\square$

Proposition 4.5. (1) For $A \in \mathcal{F}_{mn}$, $B \in \mathcal{F}_{pn}$ and $F \in \mathcal{F}_n$,

(a) $(A \leftarrow B^T)(B \wedge (B \leftarrow F)) \leq A \wedge (A \leftarrow F)$.

(b) $(A \leftarrow B^T) \diamond (B \vee (B \leftarrow F)) \geq A \vee (A \leftarrow F)$.

(2) For $A \in \mathcal{F}_{mn}$, $B \in \mathcal{F}_{mp}$ and $F \in \mathcal{F}_m$,

(a) $(B \wedge (F \rightarrow B)) \times (B^T \rightarrow A) \leq A \wedge (F \rightarrow A)$.

(b) $(B \vee (F \rightarrow B)) \diamond (B^T \rightarrow A) \geq A \vee (F \rightarrow A)$.

Proof. (1)(a) It is clear that $B \wedge (B \leftarrow F) \leq B$, $B \wedge (B \leftarrow F) \leq B \leftarrow F$. Then

$$(4.1) \quad (A \leftarrow B^T)(B \wedge (B \leftarrow F)) \leq (A \leftarrow B^T)B \leq A.$$

By Proposition 4.4,

$$(4.2) \quad A \leftarrow B^T)(B \wedge (B \leftarrow F)) \leq (A \leftarrow B^T)(B \leftarrow F) \leq A \leftarrow F.$$

From (4.1) and (4.2),

$$(A \leftarrow B^T)(B \wedge (B \leftarrow F)) \leq A \wedge (A \leftarrow F).$$

(b) Clearly, $B \vee (B \leftarrow F) \geq B$ and $B \vee (B \leftarrow F) \geq B \leftarrow F$. By Proposition 3.13,

$$(A \leftarrow B^T) \diamond (B \vee (B \leftarrow F)) \geq (A \leftarrow B^T) \diamond B \geq A.$$

By Proposition 4.4(1b),

$$(A \leftarrow B^T) \diamond (B \vee (B \leftarrow F)) \geq (A \leftarrow B^T) \diamond (B \leftarrow F) \geq A \leftarrow F.$$

Thus (1b) holds.

Similarly, we can prove (2a) and (2b), using this similar argument and proposition 4.4(2a) and 4.4(2b). $\square$

Proposition 4.6. (1) For $A \in \mathcal{F}_{mn}, B \in \mathcal{F}_{pn}, C \in \mathcal{F}_{pn}, D \in \mathcal{F}_{mn}, E \in \mathcal{F}_{pn}$, and $F \in \mathcal{F}_{nn}$,

(a) If $A \leq D, C \leq B, E \leq B$, then

$$(A \leftarrow B^T) \times (C \wedge (E \leftarrow F)) \leq D \wedge (A \leftarrow F).$$

(b) If $A \geq D, C \geq B, E \geq B$, then

$$(A \leftarrow B^T) \diamond (C \vee (E \leftarrow F)) \geq D \vee (A \leftarrow F).$$

(2) For $A \in \mathcal{F}_{mn}, B \in \mathcal{F}_{np}, C \in \mathcal{F}_{np}, D \in \mathcal{F}_{mn}, E \in \mathcal{F}_{mp}$, and $F \in \mathcal{F}_{nm}$,

(a) If $A \leq D, C \leq B, E \leq B$, then

$$(C \wedge (F \rightarrow E)) \times (B^T \rightarrow A) \leq D \wedge (F \rightarrow A).$$

(b) If $A \geq D, C \geq B, E \geq B$, then

$$(C \vee (F \rightarrow E)) \diamond (B^T \rightarrow A) \geq D \vee (F \rightarrow A).$$

Proof. (1) (a) Since $(C \wedge (E \leftarrow F)) \leq C \leq B$ and $E \leq B$,

$$(C \wedge (E \leftarrow F)) \leq (E \leftarrow F) \leq B \leftarrow F.$$

Then

$$\begin{aligned} (A \leftarrow B^T) \times (C \wedge (E \leftarrow F)) &\leq (A \leftarrow B^T)C \\ &\leq (A \leftarrow B^T)B \\ &\leq A \leq D. \end{aligned}$$

Thus

$$(4.3) \quad (A \leftarrow B^T) \times (C \wedge (E \leftarrow F)) \leq D.$$

Similarly, by Proposition 4.4),

$$\begin{aligned}(A \leftarrow B^T) \times (C \wedge (E \leftarrow F)) &\leq (A \leftarrow B^T) \times (E \leftarrow F) \\ &\leq (A \leftarrow B^T) \times (B \leftarrow F) \\ &\leq A \leftarrow F.\end{aligned}$$

So

$$(4.4) \quad (A \leftarrow B^T) \times (C \wedge (E \leftarrow F)) \leq A \leftarrow F.$$

Hence, from (4.3) and (4.4),

$$(A \leftarrow B^T)(C \wedge (E \leftarrow F)) \leq D \wedge (A \leftarrow F).$$

(b) Clearly, $C \vee (E \leftarrow F) \geq C$ and $C \vee (E \leftarrow F) \geq E \leftarrow F$. Also, $C \vee (E \leftarrow F) \geq B$ and $C \vee (E \leftarrow F) \geq B \leftarrow F$.

Then

$$(A \leftarrow B^T) \diamond (C \vee (E \leftarrow F)) \geq (A \leftarrow B^T) \diamond B \geq A \geq D.$$

Thus

$$(4.5) \quad (A \leftarrow B^T) \diamond (C \vee (E \leftarrow F)) \geq D.$$

Using Proposition 4.4,

$$\begin{aligned}(A \leftarrow B^T) \diamond (C \vee (E \leftarrow F)) &\geq (A \leftarrow B^T) \diamond (E \leftarrow F) \\ &\geq (A \leftarrow B^T) \diamond (B \leftarrow F) \\ &\geq A \leftarrow F.\end{aligned}$$

So

$$(4.6) \quad (A \leftarrow B^T) \diamond (C \vee (E \leftarrow F)) \geq A \leftarrow F.$$

Hence, from (4.5) and (4.6), we get

$$(A \leftarrow B^T) \diamond (C \vee (E \leftarrow F)) \geq D \vee (A \leftarrow F).$$

By similar argument, we can prove (2a) and (2b). □

Theorem 4.7. (1) For $A \in \mathcal{F}_{mn}$, $B \in \mathcal{F}_{pn}$, $C \in \mathcal{F}_{pn}$, $D \in \mathcal{F}_{mn}$, $E \in \mathcal{F}_{pn}$, $F \in \mathcal{F}_{nn}$ and $C \in \mathcal{F}_{mp}$ and $G \in \mathcal{F}_{mp}$,

(a) If $A \leq D$, $C \leq B$, $E \leq B$, then

$$(G \wedge (A \leftarrow B^T)) \times (C \wedge (E \leftarrow F)) \leq D \wedge (A \leftarrow F).$$

(b) If $A \geq D$, $C \geq B$, $E \geq B$,

$$(G \vee (A \leftarrow B^T)) \diamond (C \vee (E \leftarrow F)) \geq D \vee (A \leftarrow F).$$

(2) For $A \in \mathcal{F}_{mn}$, $B \in \mathcal{F}_{mp}$, $C \in \mathcal{F}_{mp}$, $D \in \mathcal{F}_{mn}$, $E \in \mathcal{F}_{np}$, $F \in \mathcal{F}_{mm}$ and $G \in \mathcal{F}_{pn}$,

(a) If $A \leq D$, $C \leq B$, $E \leq B$, then

$$(C \wedge (F \rightarrow E)) \times (G \wedge (B^T \rightarrow A)) \leq D \wedge (F \rightarrow A).$$

(b) If $A \geq D$, $C \geq B$, $E \geq B$, then

$$(C \vee (F \rightarrow E)) \diamond (G \vee (B^T \rightarrow A)) \geq D \vee (F \rightarrow A).$$

Proof. (1) (a) By Proposition 4.6(1a),

$$G \wedge (A \leftarrow B^T) \leq G \text{ and } G \wedge (A \leftarrow B^T) \leq A \leftarrow B^T.$$

Then

$$\begin{aligned} (G \wedge (A \leftarrow B^T))(C \wedge (E \leftarrow F^T)) &\leq (A \leftarrow B^T)(C \wedge (E \leftarrow F)) \\ &\leq D \wedge (A \leftarrow F). \end{aligned}$$

(b) By Proposition 4.6(1b),

$$\begin{aligned} (G \vee (A \leftarrow B^T)) \diamond (C \vee (E \leftarrow F^T)) &\geq (A \leftarrow B^T) \diamond (C \vee (E \leftarrow F)) \\ &\geq D \wedge (A \leftarrow F). \end{aligned}$$

(2) (a)

$$\begin{aligned} (C \wedge (F \rightarrow E)) \times (G \wedge (B^T \rightarrow A)) &\leq (C \wedge (F \rightarrow E)) \times (B^T \rightarrow A) \\ &\leq D \wedge (F \rightarrow A). \end{aligned}$$

(b) By Proposition 4.6(2b),

$$\begin{aligned} (C \vee (F \rightarrow E)) \diamond (G \vee (B^T \rightarrow A)) &\geq (C \vee (F \leftarrow E^T)) \diamond (B^T \rightarrow A) \\ &\geq D \vee (F \rightarrow A). \end{aligned}$$

□

Using the above Theorem 4.7, we obtain the following proposition.

Proposition 4.8. For $A, B, C \in \mathcal{F}_n$,

(1) (a) If $A \leq C \leq B$, then

$$(C \wedge (A \leftarrow B^T)) \times (C \wedge (A \leftarrow B^T)) \leq C \wedge (A \leftarrow B^T).$$

(b) If $A \geq C \geq B$, then

$$(C \vee (A \leftarrow B^T)) \diamond (C \vee (A \leftarrow B^T)) \geq C \vee (A \leftarrow B^T).$$

(2) (a) If $A \leq C \leq B$, then

$$(C \wedge (B^T \rightarrow A)) \times (C \wedge (B^T \rightarrow A)) \leq C \wedge (B^T \rightarrow A).$$

(b) If $A \geq C \geq B$, then

$$(C \vee (B^T \rightarrow A)) \diamond (C \vee (B^T \rightarrow A)) \geq C \vee (B^T \rightarrow A).$$

This proposition shows that $C \wedge (A \leftarrow B^T)$ and $C \wedge (B^T \rightarrow A)$ are transitive and $C \vee (B^T \rightarrow A)$ and $C \vee (A \leftarrow B^T)$ are c-transitive.

Remark 4.9. In Proposition 4.8, if we replace C and B by A , we get $A \wedge (A \leftarrow A^T)$ and $A \wedge (A^T \rightarrow A)$ are transitive, and $A \vee (A^T \rightarrow A)$ and $A \vee (A \leftarrow A^T)$ are c-transitive.

Theorem 4.10. (1) For $A \in \mathcal{F}_{mn}$, $B \in \mathcal{F}_{pn}$, $C \in \mathcal{F}_{pn}$ and $F \in \mathcal{F}_{nq}$,
 (a) If $C \leq B$, then $(A \leftarrow B^T)(C \leftarrow F) \leq A \leftarrow F$.
 (b) If $C \geq B$, then $(A \leftarrow B^T) \diamond (C \leftarrow F) \geq A \leftarrow F$.
 (2) For any IFM $A \in \mathcal{F}_{mn}$, $B \in \mathcal{F}_{mp}$, $C \in \mathcal{F}_{mp}$ and $F \in \mathcal{F}_{qm}$,
 (a) If $C \leq B$, then $(F \rightarrow C)(B^T \rightarrow A) \leq F \rightarrow A$.
 (b) If $C \geq B$, then $(F \leftarrow C) \diamond (B^T \leftarrow A) \geq A \leftarrow F$.

Proof. (1) (a) By Proposition 4.4(1a),

$$(A \leftarrow B^T)(C \leftarrow F) \leq (A \leftarrow B^T)(B \leftarrow F) \leq A \leftarrow F.$$

(b) By Proposition 4.4(1b),

$$(A \leftarrow B^T) \diamond (C \leftarrow F) \geq (A \leftarrow B^T) \diamond (B \leftarrow F) \geq A \leftarrow F.$$

Similarly, we can prove (2a) and (2b). □

The following Proposition is evident from the Theorem 4.10.

Proposition 4.11. (1) For $A \in \mathcal{F}_{mn}$, $B \in \mathcal{F}_{mn}$ and $F \in \mathcal{F}_{nq}$,
 (a) If $A \leq B$, then $(A \leftarrow B^T)(A \leftarrow F) \leq A \leftarrow F$.
 (b) If $A \geq B$, then $(A \leftarrow B^T) \diamond (A \leftarrow F) \geq A \leftarrow F$.
 (2) For any IFMs $A \in \mathcal{F}_{mn}$, $B \in \mathcal{F}_{mn}$ and $F \in \mathcal{F}_{qm}$,
 (a) If $A \leq B$, then $(F \rightarrow A)(B^T \rightarrow A) \leq F \rightarrow A$.
 (b) If $A \geq B$, then $(F \leftarrow A) \diamond (B^T \leftarrow A) \geq F \rightarrow A$.

Remark 4.12. If we replace F by B^T in Proposition 4.11, we get

- (1) (a) If $A \leq B$, then $(A \leftarrow B^T)(A \leftarrow B^T) \leq A \leftarrow B^T$.
 (b) If $A \geq B$, then $(A \leftarrow B^T) \diamond (A \leftarrow B^T) \geq A \leftarrow B^T$.
- (2) (a) If $A \leq B$, then $(B^T \rightarrow A)(B^T \rightarrow A) \leq B^T \rightarrow A$.
 (b) If $A \geq B$, then $(B^T \leftarrow A) \diamond (B^T \leftarrow A) \geq B^T \rightarrow A$.

Similarly,

- (a) If $A \geq B$, then $(A \leftarrow B^T)(A \leftarrow B^T) \geq A \leftarrow B^T$.
- (b) If $A \leq B$, then $(A \leftarrow B^T) \diamond (A \leftarrow B^T) \leq A \leftarrow B^T$.
- (c) If $A \geq B$, then $(B^T \rightarrow A)(B^T \rightarrow A) \geq B^T \rightarrow A$.
- (d) If $A \leq B$, then $(B^T \leftarrow A) \diamond (B^T \leftarrow A) \leq B^T \rightarrow A$.

Remark 4.13. In the above Remark 4.12, if $A = B$, we get

- (1) (a) $(A \leftarrow A^T)(A \leftarrow A^T) = A \leftarrow A^T$.
- (b) $(A \leftarrow A^T) \diamond (A \leftarrow A^T) = A \leftarrow A^T$.
- (2) (a) $(A^T \rightarrow A)(A^T \rightarrow A) = A^T \rightarrow A$.
- (b) $(A^T \rightarrow A) \diamond (A^T \rightarrow A) = A^T \rightarrow A$.

Remark 4.14. (1) In Proposition 4.8 (1a), if we replace C by $(A \leftarrow A^T)^T$, then

$$\begin{aligned} & ((A \leftarrow A^T)^T \wedge (A \leftarrow A^T) \times ((A \leftarrow A^T)^T \wedge (A \leftarrow A^T))) \\ & \leq (A \leftarrow A^T)^T \wedge (A \leftarrow A^T). \end{aligned}$$

(2) In Proposition 4.8 (1b), if we replace C by $(A \leftarrow A^T)^T$ and B by A , then

$$\begin{aligned} & ((A \leftarrow A^T)^T \vee (A \leftarrow A^T) \diamond ((A \leftarrow A^T)^T \vee (A \leftarrow A^T))) \\ & \geq (A \leftarrow A^T)^T \vee (A \leftarrow A^T). \end{aligned}$$

Let R be an $n \times n$ IFM. If $R \times R \leq R$ (transitive), $R^T = R$ (symmetric) and $I \leq R$ (reflexive), then R represents a similarity relation or an intuitionistic fuzzy equivalence relation. Clearly

$$\begin{aligned} & (A \leftarrow A^T) \wedge (A \leftarrow A^T)^T \geq I, \\ & ((A \leftarrow A^T) \wedge (A \leftarrow A^T)^T)^T = (A \leftarrow A^T) \wedge (A \leftarrow A^T)^T \end{aligned}$$

and

$$\begin{aligned} & ((A \leftarrow A^T) \wedge (A \leftarrow A^T)^T)((A \leftarrow A^T) \wedge (A \leftarrow A^T)^T) \\ & = ((A \leftarrow A^T) \wedge (A \leftarrow A^T)^T). \end{aligned}$$

Thus $((A \leftarrow A^T) \wedge (A \leftarrow A^T)^T)$ represents a similarity relation.

Also $(A^T \rightarrow A) \wedge (A^T \rightarrow A)^T$ represents a similarity relation.

If $R \diamond R \geq R$ (c-transitive), $R^T = R$ and $I^c \geq R$, then R represents a dissimilarity relation. That is, if $R = (\langle r_{ij}, r'_{ij} \rangle)$ is a dissimilarity matrix, then

$$\langle r_{ik} \vee r_{kj}, r'_{ik} \wedge r'_{kj} \rangle \geq \langle r_{ij}, r'_{ij} \rangle, \langle r_{ij}, r'_{ij} \rangle = \langle r_{ji}, r'_{ji} \rangle$$

and

$$\langle r_{ii}, r'_{ii} \rangle = \langle 0, 1 \rangle \text{ for } i, j, k = 1, 2, \dots, n.$$

Thus $(A \leftarrow A^T) \vee (A \leftarrow A^T)^T$ and $(A^T \rightarrow A) \vee (A^T \rightarrow A)^T$ represents dissimilarity relations.

Proposition 4.15. (1) For $A \in \mathcal{F}_{mn}, F \in \mathcal{F}_{nq}$,

- (a) $(A \leftarrow A^T)(A \leftarrow F) = A \leftarrow F$.
- (b) $(A \leftarrow A^T) \diamond (A \leftarrow F) = A \leftarrow F$.
- (2) For $A \in \mathcal{F}_{mn}, F \in \mathcal{F}_{qm}$,
- (a) $(F \rightarrow A)(A^T \rightarrow A) = F \rightarrow A$.

$$(b) (F \leftarrow A) \diamond (A^T \leftarrow A) = F \leftarrow A.$$

Proof. In Proposition 4.11(1a), if we set $B = A$, then

$$(A \leftarrow A^T)(A \leftarrow F) \leq A \leftarrow F.$$

Since $A \leftarrow A^T$ is reflexive, $A \leftarrow A^T \geq I$ $(A \leftarrow A^T)(A \leftarrow F) \geq A \leftarrow F$.
Thus $(A \leftarrow A^T)(A \leftarrow F) = A \leftarrow F$.

Similarly, setting in Proposition 4.11(1b), $B = A$. Then we have

$$(A \leftarrow A^T) \diamond (A \leftarrow F) \geq A \leftarrow F.$$

Since $I^c \geq A \leftarrow A^T$, $(A \leftarrow F) \geq (A \leftarrow A^T) \diamond (A \leftarrow F)$. So (1b) holds

By similar argument, we can prove (2a) and (2b). $\square$

Proposition 4.16. For $A \in \mathcal{F}_{mn}$,

- (1) (a) $(A \leftarrow A^T)A = A$.
(b) $(A \leftarrow A^T) \diamond A = A$.
- (2) (a) $A(A^T \rightarrow A) = A$.
(b) $A \diamond (A^T \rightarrow A) = A$.

Proof. (1) (a) Clearly, $A \leftarrow A^T \geq I$. Then $(A \leftarrow A^T)A \geq A$. Thus, By Proposition 2.6, $(A \leftarrow A^T)A \leq A$. So $(A \leftarrow A^T)A = A$.

(b) Clearly, $A \leftarrow A^T \leq I^c$ and $(A \leftarrow A^T) \diamond A \leq A$. By Proposition 3.13, $(A \leftarrow A^T) \diamond A \geq A$. Thus $(A \leftarrow A^T) \diamond A = A$.

Similarly, we can prove (2a) and (2b). $\square$

The following Proposition is obvious from Proposition 4.16.

Proposition 4.17. For $A \in \mathcal{F}_{mn}$,

- (1) $(A \leftarrow A^T)A(A^T \rightarrow A) = A$.
- (2) $(A \leftarrow A^T) \diamond A \diamond (A^T \rightarrow A) = A$.

Proposition 4.18. For $A \in \mathcal{F}_{mn}$,

- (1) (a) $A \leftarrow (A^T \rightarrow A)^T = A \leftarrow (A^T \leftarrow A) = A$.
(b) $A \leftarrow (A^T \rightarrow A)^T = A \leftarrow (A^T \leftarrow A) = A$.
- (2) (a) $(A \leftarrow A^T) \rightarrow A = (A \rightarrow A^T) \rightarrow A = A$.
(b) $(A \leftarrow A^T)^T \rightarrow A = (A \rightarrow A^T) \rightarrow A = A$.

Proof. By Proposition 4.1(1), $A \leftarrow (A^T \leftarrow A) \geq A$. Since $(A^T \leftarrow A) \geq I$, $A \leftarrow (A^T \leftarrow A) \geq A \leftarrow I = A$. Thus $A \leftarrow (A^T \leftarrow A) = A$.

(b) By Proposition 4.1(2), $A \leftarrow (A^T \leftarrow A) \leq A$. Since $I^c \geq A^T \leftarrow A$,

$$A \leftarrow I^c \geq A \leftarrow (A^T \leftarrow A) \text{ and } A \geq A \leftarrow (A^T \leftarrow A).$$

Thus $A \leftarrow (A^T \leftarrow A) = A$. $\square$

Remark 4.19. By Proposition 4.16 and 4.18, we have

$$(A \leftarrow A^T)A = A \leftarrow (A^T \leftarrow A) \text{ and } A(A^T \rightarrow A) = (A \rightarrow A^T) \rightarrow A.$$

Lemma 4.20. For $A, B \in \mathcal{F}_n$, $(A \wedge B)^2 \leq A^2 \wedge B^2$.

Proof. $A \wedge B = (\langle (a_{ij} \wedge b_{ij}), (a'_{ij} \vee b'_{ij}) \rangle)$. Then

$$\begin{aligned} (A \wedge B)^2 &= (\langle \bigvee_k ((a_{ik} \wedge b_{ik}) \wedge (a_{kj} \wedge b_{kj})), \bigwedge_k ((a'_{ik} \vee b'_{ik}) \vee (a'_{kj} \vee b'_{kj})) \rangle). \end{aligned}$$

Without loss of generality, assume A and B are 2×2 matrices.

Consider

$$\begin{aligned} &\bigvee_k ((a_{ik} \wedge b_{ik}) \wedge (a_{kj} \wedge b_{kj})) \\ &= [(a_{i1} \wedge a_{1j}) \wedge (b_{i1} \wedge b_{1j})] \vee [(a_{i2} \wedge a_{2j}) \wedge (b_{i2} \wedge b_{2j})] \\ &= [(a_{i1} \wedge a_{1j}) \vee [(a_{i2} \wedge a_{2j}) \wedge (b_{i2} \wedge b_{2j})]] \wedge [(b_{i1} \wedge b_{1j}) \vee [(a_{i2} \wedge a_{2j}) \wedge (b_{i2} \wedge b_{2j})]] \\ &= [(a_{i1} \wedge a_{1j}) \vee (a_{i2} \wedge a_{2j})] \wedge [(a_{i1} \wedge a_{1j}) \vee (b_{i2} \wedge b_{2j})] \wedge [(b_{i1} \wedge b_{1j}) \vee (a_{i2} \wedge a_{2j})] \wedge [(b_{i1} \wedge b_{1j}) \vee (b_{i2} \wedge b_{2j})] \\ &\leq [(a_{i1} \wedge a_{1j}) \vee (a_{i2} \wedge a_{2j})] \wedge [(b_{i1} \wedge b_{1j}) \vee (b_{i2} \wedge b_{2j})] \\ &= (\bigvee_k (a_{ik} \wedge a_{kj})) \wedge (\bigvee_k (b_{ik} \wedge b_{kj})). \end{aligned}$$

Similarly,

$$\bigwedge_k [(a'_{ik} \vee b'_{ik}) \vee (a'_{kj} \vee b'_{kj})] \geq (\bigwedge_k (a'_{ik} \vee a'_{kj})) \vee (\bigwedge_k (b'_{ik} \vee b'_{kj})).$$

Thus

$$\begin{aligned} (A \wedge B)^2 &\leq ((\bigvee_k (a_{ik} \wedge a_{kj})) \wedge (\bigvee_k (b_{ik} \wedge b_{kj})), (\bigwedge_k (a'_{ik} \vee a'_{kj})) \vee (\bigwedge_k (b'_{ik} \vee b'_{kj}))) \\ &= A^2 \wedge B^2. \end{aligned}$$

□

In dual fashion we can prove the following Lemma.

Lemma 4.21. For $A, B \in \mathcal{F}_n$, $(A \vee B) \diamond (A \vee B) \geq (A \diamond A) \vee (B \diamond B)$.

Proposition 4.22. (1) For $A \in \mathcal{F}_n, B \in \mathcal{F}_{mn}$,

- (a) $R = A \wedge (A \leftarrow A^T) \wedge (B^T \rightarrow B) \Rightarrow R \times R \leq R$.
- (b) $R = A \vee (A \leftarrow A^T) \vee (B^T \rightarrow B) \Rightarrow R \diamond R \geq R$.
- (1) For any IFMs $A \in \mathcal{F}_n, B \in \mathcal{F}_{nm}$,
 - (a) $R = A \wedge (A \rightarrow A^T) \wedge (B^T \leftarrow B) \Rightarrow R \times R \leq R$.
 - (b) $R = A \vee (A \rightarrow A^T) \vee (B^T \leftarrow B) \Rightarrow R \diamond R \geq R$.

Proof. (1) (a) Since $(A \wedge (A \leftarrow A^T))$ and $(B^T \rightarrow B)$ are transitive,

$$\begin{aligned} R \times R &= ((A \wedge (A \leftarrow A^T)) \wedge (B^T \rightarrow B))^2 \\ &\leq (A \wedge (A \leftarrow A^T))^2 \wedge (B^T \rightarrow B)^2 \\ &\leq (A \wedge (A \leftarrow A^T)) \wedge (B^T \rightarrow B) \\ &= R. \end{aligned}$$

Similarly, we can prove the other results. $\square$

In the above Proposition, if we replace B by A , we get the following.

Proposition 4.23. *For any IFMs $A \in \mathcal{F}_n$,*

$$(1) R = A \wedge (A \leftarrow A^T) \wedge (A^T \rightarrow A) \Rightarrow R \times R \leq R.$$

$$(2) R = A \vee (A \leftarrow A^T) \vee (A^T \rightarrow A) \Rightarrow R \diamond R \geq R.$$

Lemma 4.24. *If $R \in \mathcal{F}_n$ is transitive and symmetric, then it is weakly reflexive.*

Proof. Since R is transitive, $R^2 \leq R$. Then $\langle r_{ik} \wedge r_{ki}, r'_{ik} \vee r'_{ki} \rangle \leq \langle r_{ii}, r'_{ii} \rangle$. Using the symmetricity condition of R , we get $\langle r_{ik}, r'_{ik} \rangle \leq \langle r_{ii}, r'_{ii} \rangle$. Thus the result holds. $\square$

Lemma 4.25. *If $R \in \mathcal{F}_n$ is transitive and weakly reflexive, then R is compact.*

Proof. Since R is weakly reflexive, $\langle r_{ik}, r'_{ik} \rangle \leq \langle r_{ii}, r'_{ii} \rangle$. Then

$$\langle r_{ii}, r'_{ii} \rangle \wedge \langle r_{ik}, r'_{ik} \rangle \geq \langle r_{ik}, r'_{ik} \rangle.$$

This is true for all i, k . thus $R^2 \geq R$. $\square$

Lemma 4.26. *If $R \in \mathcal{F}_n$ is c-transitive and symmetric, then $R \diamond R = R$.*

Proof. If R is c-transitive, then $\langle r_{ik}, r'_{ik} \rangle \vee \langle r_{kj}, r'_{kj} \rangle \geq \langle r_{ij}, r'_{ij} \rangle$. In particular, $\langle r_{ik}, r'_{ik} \rangle \vee \langle r_{ki}, r'_{ki} \rangle \geq \langle r_{ii}, r'_{ii} \rangle$. By symmetry of R , $\langle r_{ik}, r'_{ik} \rangle \geq \langle r_{ii}, r'_{ii} \rangle$. Thus $\langle r_{ii}, r'_{ii} \rangle \vee \langle r_{ik}, r'_{ik} \rangle \leq \langle r_{ik}, r'_{ik} \rangle$. So $R \diamond R \leq R$. Hence $R \diamond R = R$. $\square$

From the above Lemmas the following proposition is trivial.

Proposition 4.27. *For any symmetric $A \in \mathcal{F}_n$,*

$$(1) R = A \wedge (A \leftarrow A^T) \wedge (A^T \rightarrow A) \Rightarrow R \times R = R.$$

$$(2) R = A \vee (A \leftarrow A^T) \vee (A^T \rightarrow A) \Rightarrow R \diamond R = R.$$

The Proposition 4.27 shows that one can derive a max-min idempotent IFM from any symmetric IFM and min-max idempotent IFM from a symmetric IFM. If we replace A by $A^c \wedge (A^T)^c$ in Proposition

4.27(1) and A by $A^c \vee (A^T)^c$ in Proposition **4.27** we get idempotent and min-max idempotent IFM for any IFM.

REFERENCES

- [1] K. Atanassov, Intuitionistic Fuzzy Sets, VII ITKR's Session, Sofia, June 1983.
- [2] K. Atanassov, Index Matrices: Towards an Augmented Matrix Calculus, Springer Berlin 2014.
- [3] J. J. Buckley, Note on Convergence of Powers of a Fuzzy Matrix, Fuzzy Sets and Systems 121 (2001) 363–364.
- [4] H. Hashimoto, Traces of Fuzzy Relations Under Dual Operations, Journal of Advanced Computational Intelligence and Intelligent Informatics 9 (5) (2005) 563–569.
- [5] H. Hashimoto, Covergence of Powers of Tranitive Fuzzy Matrix, Fuzzy Set and Systems 9 (1983) 153–160.
- [6] H. Hashimoto, Decomposition of Fuzzy Matrices, SIAM J. Alg. Disc. Math. 6 (1985) 32–38.
- [7] H. Hashimoto, Reduction of a fuzzy retrieval model, Inform. Sci. 27 (1982) 133–140.
- [8] H. Hashimoto, Transitive reduction of a nilpotent boolean matrix, Disc. Appl. Math. 8 (1984) 51–61.
- [9] H. Hashimoto, Sub-inverse of Fuzzy Matrices, Fuzzy Sets and Systems 12 (1984) 155–168.
- [10] E. P. Im, Lee and S. W. Park, The Determinant of square Intuitionistic Fuzzy Matrices, Far East Journal of Mathematical Sciences 3 (5) (2001) 789–796.
- [11] N. G. Jeong and H. Y. Lee, Canonical Form of Transitive Intuitionistic Fuzzy Matrices, Honam Math. J. 27 (4) (2005) 543–550.
- [12] S. K. Khan, M. Pal and A. K. Shyamal, Intuitionistic Fuzzy Matrices, Notes on Intuitionistic Fuzzy Sets 8 (2) (2002) 51–62.
- [13] K. H. Kim and R. W. Roush, Generalized Fuzzy Matrices, Fuzzy Sets and Systems 4 (1980) 293–315.
- [14] W. Kolodziejczyk, Canonical Form of a Strongly Transitive Fuzzy Matrix, Fuzzy Sets as Systems 22 (1987) 297–302.
- [15] A. R. Meenakshi, and T. Gandhimathi, Intuitionistic Fuzzy Relational Equations, Advances in Fuzzy Mathematics 5 (3) (2010) 239–244.
- [16] A. R. Meenakshi, Fuzzy Matrix Theory and its Application, MJP Publishers, Chennai 2008.
- [17] S. Mondal and M. Pal, Similarity Relations, Invertibility and Eigen Values of Intuitionistic Fuzzy matrix, Fuzzy Information and Engg. 4 (2013) 431–443.
- [18] P. Murugadas, Contribution to a study on Generalized Fuzzy Matrices, Ph.D Thesis Department of Mathematics, Annamalai University July-2011.
- [19] A. A. Nora and K. Atanassov, Intuitionistic Fuzzy Implications and the Axioms of Intuitionistic Logic, 9th conference of the European Society for Fuzzy Logic and Technology(EUSFLAT)-2015.
- [20] S. Sriram and P. Murugadas, Sub-inverses of Intuitionistic Fuzzy Matrices, Acta Ciencia Indica(Mathematics) XXXVII (1) (2011) 41–56.

- [21] M. G. Thomason, Convergence of powers of a fuzzy matrix, J. Math. Anal. Appl. 57 (1977) 476–480.
- [22] L. J. Xin, Convergence of Powers of Cotrollable Fuzzy Matrices, Fuzzy Sets and Systems 2 (1994) 83–88.

P. MURUGADAS 1 (bodi_muruga@yahoo.com)

Assistant Professor, Department of Mathematics, Annamalai University, Annamalainagar, Tamil Nadu-608002, India

K. LALITHA 2 (sudhan_17@yahoo.com)

Assistant Professor, Mathematics Section (FEAT), Annamalai University, Annamalainagar, Tamil Nadu-608002, India